552 55 1 B
PN SR VAL = SE T
(H)4F 44 45 18 (FE)4SF 54 3H31H
G2 E))
BERH AR FEPRE (A) AR ER L (B) HEI8 (A) - (B)
BT 6,382,900 6,160,200 222,700
A4S 4,772,905 7,902,242 A 3,129,337
TR R A Bl I 2 171,483,655 160,936,581 10,547,074
RIS 185,647,740 182,917,758 2,729,982
FENLE 22,110,314 15,679,810 6,430,504
% (=CAERSINEA 771,500 949,000 A 177,500
G| (IR 47,617,338 51,198,967 A 3,581,629
| P AR ALY — B A FEHE S 8,208,920 8,762,616 A 553,696
Bl [ZofoFEENE 2,414,685 7,142,111 A 4,727,426
2 (oo 813,707 509,118 304,589
g H— B RIE AR EF (1) 450,223,664 442,158,403 8,065,261
pa| [ AFER 286,268,263 293,831,562 A 7,563,299
|| FEE 111,641,167 112,339,862 A\ 698,695
D |(FEBE 29,124,215 28,931,132 193,083
AR e 1,735 12,783 A 11,048
i B4 % H 14,576,698 17,059,496 A 2,482,798
PR A 1B AN 495,158 402,024 93,134
] R A B 4 5 R 1 A ST 4 B R 8 A 305,856 A 305,856 0
&N 400,000 400,000 0
H— v A IEEE HE(2) 442,201,380 452,671,003 A 10,469,623
B — B ATREHEEERE (3)= (1) - (2) 8,022,284 A 10,512,600 18,534,884
= B E Bl Y A4S 11,723,337 10,168,895 1,554,442
*]f - Z DA D — © ATEBSNAE 39,900 54,450 A 14,550
= A
A
= H— B ATEE SN AR A (4) 11,763,237 10,223,345 1,539,892
)
st
e By
k| FH
%)
il B — AR ESNVE FHEE(5)
H— B R IEESME T ERE (6) = (4) - (5) 11,763,237 10,223,345 1,539,892
o PR ZE%E (7) = (3) +(6) 19,785,521 A 289,255 20,074,776
Z DM OFERIINEE 86,487 A 86,487
g
e
f;g FERIILER T (8) 0 86,487 A 86,487
E [ G PE TR IR - L8 1 4 A3
%)
g
KepllEe FHET (9) 1 4 A3
FERIHEIRZE%E (10)=(8) - (9) Al 86,483 A 86,484
R BN IRGERE (11) =(7) +(10) 19,785,520 A 202,772 19,988,292
| AR R e = A (12) 56,859,612 57,263,419 A 403,807
fi; AR ARG B IR A RE (13)=(11) +(12) 76,645,132 57,060,647 19,584,485
&k R (1)
)| 2B U &HE (15)
i 2 DA, O FE L4 B AR AE (16) 1,800,783 1,800,783
/};Z Z O OFENT A FE N (17) 201,014 201,035 A 21
»
=]
DR BB A2 %H (18) = (13) +(14) +(15) +(16) - (17) 78,244,901 56,859,612 21,385,289
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